







– • •	# of District	Population per	Total Cases	Total Cases
Population	Courts	District Court	Filed	Filed Per Court
683,935	8	85,492	17,102	2,138
730,690	8	91,336	18,172	2,272
762,010	8	95,251	18,665	2,333
791,631	9	87,959	18,933	2,104
782,341	9	86,927	19,379	2,153
812,226	9	90,247	19,509	2,168
834 <mark>,</mark> 642	9	92,738	19,121	2,125
854,778	9	94,975	20,006	2,223
885,241	9	98,360	19,297	2,144
914,127	9	101,570	21,208	2,356
939,585	11	85,417	21,840	1,985
969,603	11	88,146	22,976	2,089
1,065,557	11	96,869	24,352	2,214
1,107,017	11	100,638	25,811	2,346
1,150,398	11	104,582	27,356	2,487
1,195,426	11	108,675	28,995	2,636
1,242,932	11	112,994	30,731	2,794
Population Data	is from OCA Rep	oorts, US Census,	or TX Demograp	oher
Blue indicates p	rojections)			
	730,690 762,010 791,631 782,341 812,226 834,642 854,778 885,241 914,127 939,585 969,603 1,065,557 1,107,017 1,150,398 1,195,426 1,242,932	683,935 8 730,690 8 762,010 8 791,631 9 782,341 9 812,226 9 834,642 9 854,778 9 914,127 9 939,585 11 969,603 11 1,065,557 11 1,107,017 11 1,150,398 11 1,195,426 11 1,242,932 11	683,935 8 85,492 730,690 8 91,336 762,010 8 95,251 791,631 9 87,959 782,341 9 86,927 812,226 9 90,247 834,642 9 92,738 854,778 9 94,975 885,241 9 98,360 914,127 9 101,570 939,585 11 85,417 969,603 11 88,146 1,065,557 11 96,869 1,107,017 11 100,638 1,150,398 11 104,582 1,195,426 11 108,675 1,242,932 11 112,994	683,935 8 85,492 17,102 730,690 8 91,336 18,172 762,010 8 95,251 18,665 791,631 9 87,959 18,933 782,341 9 86,927 19,379 812,226 9 90,247 19,509 834,642 9 92,738 19,121 854,778 9 94,975 20,006 885,241 9 98,360 19,297 914,127 9 101,570 21,208 939,585 11 85,417 21,840 969,603 11 88,146 22,976 1,065,557 11 96,869 24,352 1,107,017 11 100,638 25,811 1,150,398 11 104,582 27,356 1,195,426 11 108,675 28,995 1,242,932 11 112,994 30,731



12-Month Running Total of Cases Filed Per Court

Fiscal Year	Collin County	# of District	Population per	Total Cases	Total Cases
riscal feat	Population	Courts	District Court	Filed	Filed Per Court
2006	683,935	8	85,492	17,102	2,138
2007	730,690	8	91,336	18,172	2,272
2008	762,010	8	95,251	18,665	2,333
2009	791,631	9	87,959	18,933	2,104
2010	782,341	9	86,927	19,379	2,153
2011	812,226	9	90,247	19,509	2,168
2012	834,642	9	92,738	19,121	2,125
2013	854,778	9	94,975	20,006	2,223
2014	885,241	9	98,360	19,297	2,144
2015	914,127	9	101,570	21,208	2,356
2016	939,585	11	85,417	21,840	1,985
2017	969,603	11	88,146	22,976	2,089
2018	1,065,557	11	96,869	24,352	2,214
2019	1,107,017	13	85,155	25,811	1,985
2020	1,150,398	13	88,492	27,356	2,104
2021	1,195,426	15	79,695	28,995	1,933
2022	1,242,932	15	82,862	30,731	2,049
	Population Data	is from OCA Rep	oorts, US Census,	or TX Demogra	oher
	(Blue indicates p	rojections)			

Fiscal Year	Civil Cases Filed	Family Cases Filed	Juvenile Cases Filed	Criminal Cases Filed	Total Cases Filed
2006	11,	823	1,387	3,892	17,102
2007	12,4	421	1,346	4,405	18,172
2008	12,	856	1,324	4,485	18,665
2009	13,	619	1,318	3,996	18,933
2010	14,	248	1,186	3,945	19,379
2011	5,443	8,850	985	4,231	19,509
2012	5,020	8,743	885	4,473	19,121
2013	5,298	9,435	938	4,335	20,006
2014	5,189	8,883	854	4,371	19,297
2015	5,533	10,119	779	4,777	21,208
2016	5,696	9,841	807	5,496	21,840
2017	6,234	10,155	760	5,827	22,976
Growth Rate	1.0631	1.0456	0.9619	1.1006	1.0599
% Annual Growth (Compound 2014-2017)	6.31%	4.56%	-3.81%	10.06%	5.99%

	er of courts e same rate as								
the case filings:									
2015	11								
2016	12								
2017	12								
2018	13								
2019	14								
2020	15								
2021	16								
	r								

Average Minutes Available for Each Case (Based on Current Filings)

23,621 cases were filed in Collin County District Courts from May 2017 – April 2018.

That's 2,147 per court.

This means each court must finalize 179 cases per month, or about **9 cases per day**, to keep even with new filings.

That means **each case is entitled to a total of <u>53 minutes</u> of time** —on and off the bench.

So, for example, if a trial will take 3 days, that case is taking up 27 cases worth of court time.

(not including any time needed for reading pleadings, researching the law, preparing orders, etc)

Area Texas	2017 Population 28,304,596	District Courts 468	Associate Judges?	Pop per Court 60,480	Collin Courts Serve % More People 146%
Dallas	2,618,148	39	+10	53,432	165%
Tarrant	2,054,475	27	+8	58,699	150%
Collin	969,603	11		88,146	
Denton	836,210	8		104,526	84%
Grayson	131,140	3		43,713	202%
Kaufman	122,883	2		61,442	143%
Rockwall	96,788	2		48,394	182%
Hunt	93,872	2		46,936	188%

Data from US Census TX County Population Estimate

FY 2017 Judicial Workload Summary Data to Assess Need for Additional District Courts

Region	County	Estimated Full-Time Judicial Officers Needed ¹	Reported Actual Full- Time Equivalent Judicial Officers	Unmet Judicial Officer Need
		Single-County Di	stricts	
11	Harris	122.7	89.0	33.7
1	Dallas	83.7	60.8	22.9
4	Bexar	52.9	44.5	8.4
5	Hidalgo	17.6	12.9	4.7
1	Collin	15.7	11.4	4.3
3	Travis	32.1	. 28.5	3.6
8	Tarrant	45.5	42.0	3.5
8	Denton	11.1	8.9	2.2

ABOUT US CONTACT US OUR SERVICES OUR TEAM

TEXAS DEMOGRAPHIC CENTER



Data G	eography L	ibrary.	Reference	Resources	TDC Conference	TDC Affiliates				
Home > Data > TPEPP > Population Projections > Data Tool										
Tx Pop. Projection	& Estimates	Cen	sus 2010	Census 2000	Census 1990	Descriptive Tables				

2014 Texas Population Projections by Migration Scenario Data Tool Result [New Search]

Selected Search Criteria									
Years 2018,2019,2020,2021,2022		Age All (0-85+)		Race/Ethnicity	Migration Rate				
				Total	2000-2010				
		Sele	cted Areas						
Table #	Ar	ea Level		Grouping	Areas				

ible 1: County Lev	Excel	PDF CSV	
Migration Rate 🔺	Year	Age 🍦	Total Pop
2000-2010	2018	All (0-85+)	1,065,557
2000-2010	2019	All (0-85+)	1,107,017
2000-2010	2020	All (0-85+)	1,150,398
2000-2010	2021	All (0-85+)	1,195,426
2000-2010	2022	All (0-85+)	1,242,932

TEX. DEMOC		IC C			ICT US OUR SERVICES	OUR TEAM	f ✓ LLOYD POTTER State Demographer
Data	Geography	Library	Reference	Resources	TDC Conference	TDC Affiliate	25
Home > Data >	TPEPP > Pop	ulation Projec	ctions > Data To	pol			
Tx Pop. Projection & Estimate	es Censi	us 2010	Census 2000) Census	1990 Descript	ive Tables	

2014 Texas Population Projections by Migration Scenario Data Tool

			Instructions & In	formation		Hide
• 4	Area Selection: To make multiple Grouping: Separate will display of Year Criteria: Each year will be li	selections ne row per a sted Separa	tire methodology prior to using the data. within an area hold down the <ctrl> key. area selected. Summated will display one row y tely. You can also list years (eg. 2010-2020,20 are 85 signifies all people 85 and above. You c</ctrl>	25,2030-2035)	15,20-22,	45,51), which will be aggregated.
		Proj	ection Migration Scenario Selection			Criteria
	Zero Migration		□ 1/2 2000-2010	2000-2010		Years (Not Aggregated)
2000-201 Migration	to natural increase (births a	and deaths).	ge due to migration at a rate equal to the 2000-20 The 1.0 scenario is typically used for short range formation, please refer to the <u>Population Projectio</u>	projections depending on the characteris		 All (2010,,2050) Every 1 yrs. starting at 2018
State Level	Data: ONo Includ	e data for e	State Level Selection ntire state?			List of Years (comma separated)
		Cour	nty & County Based Region Selection			Ages (Aggregated)
Area Type Grouping	County Aggregate	> >	Metro SA (Feb 2013)	COG (pre Sep 2013) Separate	>	All (0-85+)
Area	Cherokee Childress Clay Cochran Coke Coleman Collin Collingsworth	^	Abilene Amarillo Austin-Round Rock Beaumont-Port Arthur Brownsville-Harlingen College Station-Bryan Corpus Christi Dallas-Fort Worth-Arlington	Alamo Area Ark-Tex Brazos Valley Capital Area Central Texas Coastal Bend Concho Valley Deep East Texas		C Every 5 yrs. starting at 0 Age Groups (comma separated) Sex

Fiscal Year	Collin County	# of District	Population per	Total Cases	Total Cases
FISCAL TEAL	Population	Courts	District Court	Filed	Filed Per Court
2006	683,935	8	85,492	17,102	2,138
2007	730,690	8	91,336	18,172	2,272
2008	762,010	8	95,251	18,665	2,333
2009	791,631	9	87,959	18,933	2,104
2010	782,341	9	86,927	19,379	2,153
2011	812,226	9	90,247	19,509	2,168
2012	834,642	9	92,738	19,121	2,125
2013	854,778	9	94,975	20,006	2,223
2014	885,241	9	98,360	19,297	2,144
2015	914,127	9	101,570	21,208	2,356
2016	939,585	11	85,417	21,840	1,985
2017	969,603	11	88,146	22,976	2,089
2018	1,006,603	11	91,509	24,352	2,214
2019	1,043,603	13	80,277	25,811	1,985
2020	1,080,603	13	83,123	27,356	2,104
2021	1,117,603	14	79,829	28,995	2,071
2022	1,154,603	15	76,974	30,731	2,049
	Population Data	is from OCA Rep	orts, US Census, d	and projections a	re based on
	Collin County gro	owth of 37,000 p	er year		
	(Blue indicates p	rojections)			









